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2] &g 10,296 10,296 0
1. kg1 5,296 5,296 0
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1. 2/ 9,000 9,000 0
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1.95% 390 390 0
2. 0S| 1,420 1,420 0
3. HIE TG 250 250 0
3.[x]15AEEEAD 1,000 1,000 0
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LI[z]13EEes 400 900 -500
1. A& 3] 400 900 -500| HARA T -500,000 = -500,000
2. [Z]FAR T H e 7,200 0 7,200
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1. [Z]CCTVRE] & 660 660 0
1.9 Rk=8-] 660 660 0
3.8t oA S 100 100 0
1L[x]&awEd 50 50 0
1. WS- 50 50 0
2. [2]AG-&FA 50 50 0
1. 253 50 50 0
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3.7 EFEE e 6,904 6,904 0
2. [Z]980 2,000 2,000 0
1.498H 2,000 2,000 0
3. [Z1A dukag] 56,846 55,393 1,453
1. g uk8-1] 56,846 55,393 1,453 | 27F 2444 © -11,280,000 = -11,280,000
(BHEA 1) [E]1371 4 A AL 74 6,800,000
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